ANERETRBEER—ER

RRFENREHR SMIETAIHER
---------‘
TR 2 4 FE (ERR) T2 5FE (Eff) T2 6 FEE (Ef) TR 2 7FE (EFR) TR 2 SEE (EfR) T2 9OFE (Eff) T3 0EE (Eff) SHTEE (ELH) SH2EE (F#) SHIEE (Ef) SHAEE (E#H) SHSEE (Ef) SHOEE (EfF) jl SHTEE (FF) |
H
B % HERE T RO HERE T FOIE HERE T FOHE HERE + Fbi HERE T RO HERE -+ RDI HERE T FOHE HERE + RO HERE T RO E HERE -+ RO HERE + Bb i HERE + RO HERE + RO J' R+ RO 1
B
- g ow | EER | HELE | GRER | REER | BETE | WREH | REER | HELE | GRER | BEER | BETE | GREH | REER | BELE | GRER | BEER | BETE | GREH | REER | BELE | GRER | REER | BETE | WREH | REER | BELE | GRER | REER | BETE | WREH | TEER | BELR | GRER | REER | BETE | WREH | mEER | BELE | eRER |lmegs | BETE | wRER
(m) (m?) (m?) (m) (m?) (m?) (m) (m?) (m?) (m) (m?) (m?) (m) (m?) (m?) (m) (m?) (m?) (m) (m?%) (m?) (m) (m?) (m?) (m) (m?) (m?) (m) (m?) (m?) (m) (m?®) (m?) (m) (m?) (m?) (m) (m?) (m?) J (m) (m?) (m?) I—
HE) |emE | 100] 2,400 100 2,300 100| 1,500 100/ 3,000 30| 2,000 30 600 100 4,000 20 750 100 4,600 100/ 3,300 : |l
HE) |eHE |6 280| 3. 700 720 5,170 500 2,500 500 3,600 | 500[ 3,000 :
L I
HEN (w5 170 6,400 [ I
L I
TR |meEE koA 460 740 30| 3,100 100 2,640 : 1
1
I
) |sEET |AAHT 300 600| 1,000 : :
I
AR |EmE | = 700/ 16, 100 570| 11,400 246|  7.620 220 5. 800 I [
H I
A2 |esmw  |mssrww 150 800 : I
L
]
AR |EHT  |REEAX 210 2,500 160 300 I :
I [
AR |EHE  |REENE 160 4,700 I :
1 H
AR |EEH  |RBEAR 393| 6,010 : [
I
INRJN |EmE |Femr 300 2. 150 200| 3,400 239 440 : :
1
BEER )| |emr | omAT 350 4. 000 250 1,000 [ :
L I
B BEET | FEaT 250 2,900 105 690 30 350 350 1,600 600 1,050 210 1,000 200 490 J| I
H
I BEET | FET 80| 1,230 100 850 195 2,200 160 770 : |l
WRE)|  |EEE iﬁ?,*,ﬁ'i"jld\% 440 9,300 90| 1,900 40| 1,800 7.530 194 4,300 790/ 10, 300 200 2. 000 360 1,000 [ :
L 1
LA |EHT |CHENESR 130 600 200 4,100 | i
1 I
BEER)I| B |ERETISAL : |
1
I
EE)| |mEEr  |SER 30 30 30 30| 2,000 30| 2,000 230| 19,570 30| 2,000 601 3. 060 100 7,140 50 500 50| 2,400 [ :
I
HAJ  |sEET | FHA 40 40 40 40 100 40 100 40 100 40 100 800| 4. 200 100 2,240 1 I
H -
WA |#EEr | FhA~LEA 90| 1,900 300 3,500 240 1,000 260 840 140 1,600 250 2. 600 350 3. 900 3200 1,200 100| 1,100 470| 3,700 474 1,800 : 200 1,700 1
L
]
BB [tmEsr  |MEf~Est 80| 2,600 220  7.700 350 5. 600 104| 3,900 449 3,700 310 5,000 300 3,200 742| 14,500 327 6. 800 200 1,700 | 230 5000 :
I [
B2 | 330 9,600 60 990 616 220 500 240/ 11,000 I i
b 1
BEE2E)| [mEer  |mEf o) 510 25,600 200 11,500 100 300 : I
L
EE |#ERr (@R 260 180 460 1,000 180 280 : :
[ I
Ml |[REEr R~ 270 100 270 400 104 180 875 2,080 250 780 500 600 200 80 [ i
L I
HA)|  |exEr |#E 110 400 353 1,100 150 450 105 700 60 690 I 5000 1 500
1
H
P |e=mr |kE 420 1,900 130 600 81 200 820 6 100 3000 1,200 : |l
Bl =l |aE 630 2. 000 220 210 810 200 300 [ :
L I
FHAOJ [ |SE 280 300 130 73 300 | i
! }
)| |REE | kE~RnE 330 760 1,040 1,800 200 900 240 1,880 376| 1,260 270 350 : |
1
I
BRI [eEEr | KE~R 530 300 i :
I
E)I| (ol TR 130 200 147 170 1 [
- -
ABN lesw | 190 440 I 400 100 I
[ 1
]
HBEA) el |x2 50 400 50 800 130 1,250 175] 2,510 228| 4140 200 1,500 100 500 555/  3.800 94 790 I :
I [
FEA) (a8 200 800 450 220 4. 300 I i
1 h
MBI |e=m |TE# 240 100 100 300 759 1,780 [ 150 300 I
[ 1
200 5 100 110/ 5,000 200 7,900 200( 39, 700 10, 554 : [
REET)I|  |e=Er [zE : :
30, 236 I I
L 1
BBl [REAT [dei~ 40| 4,990 40| 5,120 0 I
1 1
JEN |eme |wEE 106 250 I [
[ 1
ER |EmTm |55 450 1,700 200 1,000 350 1,290 200 1,860 100/ 7,000 20| 2,000 | 5000 1,000 :
L I
BEHE (rsh X [ [
| i




---------‘
TRi2 4 FE () T2 5EE () T2 6 EE () T2 7EE () T2 8EE (E) T2 OFE () TR 3 0EE (E) SHTERE () SH2FE () SHIEE () SFAEE (BE) SHSEE () SH6EE (B J| SHTEE (FE) I
- H
B4 TS+ B WS+ B TS+ B TS+ B WS+ B HETE T B TS+ Bb WS+ B WS+ B WS+ B TS+ Bb TS+ B WS+ B jl TS+ B 1
a4 i
- S EHEE | BELE | KIEEE | THEEE | BE1IE | GREE | SHEE | #E1E | RREH | SHES | #E1E | XEEE | SHES | #EtE | XEEE | SHES | #E1E | /EEE | =HEE | BE1E | XEEE | SHEE | BE1E | REEE | SREE | BE1E | KEEE | SEEE | BE1E | GREE | SHEE | #E1E | RREH | ShES | #EtE | wREH | =hEs | #xte | wuEn ||=mEs | #xtE BARE]
Eadi (m) (m?) (m?) (m) (m?) (m?) (m) (m?) (m?) (m) (m?%) (m?) (m) (m?) (m?) (m) (m?) (m?) (m) (m?) (m?) (m) (m?) (m?) (m) (m?) (m?) (m) (m?) (m?) (m) (m?) (m?) (m) (m*) (m?) (m) (m*) (m?) _I (m) (m?) (m?) I‘
FEIER)I|  |mEEH | AAKET 193 330 180 160 60 200 260 1,170 : 1
| 1
1
MRA)I  |6ERT  [BRA 96 620 [ :
I
DA o= |22 30 1,570 I [
il | H
2R [fe=Er (s 285| 3,200 : 1
L
1
*FE) lesh |se 20 270 : :
I I
BEED)||  |mBm®  |@AETHS 130 6,300 2. 400 115 7. 800 225 13, 400 422| 31,100 34| 23,900 300/ 16, 000 | 220/ 15, 000
|
1 H
REFF)I|  |meHmm 1,300 3, 000 4, 700 300/ 29,000 : i
g §
B  |Ss  |Exer 160 1.300 110 1,400 205 5. 000 300 4,400 : :
[ I
&I EHHE | ASE 80 220 I I
__l I_
EE)I |snEE  |EE 300 1,400 282 1,210 312| 4,800 2, 200 300 1,300 l I
1 1
HEN |eB®m |HEE 1.103| 10,200 300 2. 200 400 2,000 : |l
KX (e | EomET 217 4. 700 110/ 3,350 370 2,500 [ :
__I I_
FEJ  |ERET  |FEA 108 5,900 ] [
il | H
BEES)I|  |exmr |EE 216| 3,400 300/ 30, 658 : I
| 1
1
HEBFA) (R8T |[KE~HRE [ :
I
EE)  |RxE |[EE 95 310 i [
il | H
4 410 49,100 0 5,080 52,200 1,000 3,046 38,270 1,178 20,000 1,540, 84, 330 4 327 171,700 3, 945| 103, 476 4 994 76,190 3,652 67,160 4 678 47,570 3,572 35,420 4 012| 76, 650 2,200 2,384 41, 398 iL2,400 27, 600 )
v =3 N =& Bz 488 [ — o — IR — = sl EE = xR~ OIS & B A A%
SR DERE LTI DIRRIIERMFOXE(ZCLVRBRZICEILT A E L, E—EROERIEFEBRIZCDOULNTIE, EELLGLHAGEENAHY FT,




